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s | wmE | & | WA KB R OEE 7.33 | 8

o [ ik | & | WA YN IEEN I

N BT (90 | % |
] s || am f A ws | % |4
U | B | 2dl | E R IEED 511 | 1

> | wm | % | o IR E IR IRk IEED 702 | 2

s T | B | 28 | ERIAIK FEAER (B EED 7.90 | 3

P ARE | B | 24 | ERialx PR R IEED 784 | 4

s | GEs | B | om KEH R R B, IEED 5.90 | 5
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6 | RRR | B x| TR X F N R (B FFH FRL

7| Ak | B A HPRRHEIN TN A — A ] 4 FRL

8 | teitit | B x| TR X F N ERE (B I FH FRL

9 | HEEE | B yati:| B F3 e /22 DU BA o A FRL

- CHLFWFR (4 )00 | & | a
B gk | M| 4L AL i H Wst | k|
1| RS | & x| JEAE X PRI /N2 —BA I FH 8.41 | 1

2 | BRZE | & x| HPRT AN X FHENFR (RO I FH 7.95 | 2

3| BECE | & x| WIKE RO’ 1A 7.75

4 | KB | & x| R EE I [X & 81/ A R FRL

- m A B ARG LD (12 ) U R
B kg | MR | A HAL T H g | k|
1 5 5| A HIRTE—H#R 2 A JUTHE 9.00 | 1

2 | FEad | B | a4 WA BEAR R (—BO JUTHE 8.63 | 2

3| HImEA | B | mbd H R T 224 A JUTHE 8.56 | 3

4 Fi4 5| = LS N JUTHE 8.55 | 4

5 | &EZE | 5B | mbd TEIN X ERME 20 A Hrot—BA JUTHE 8.55 | 5

6 | B | B | a4 WA BEAR R (—BO JUTHE 8.54 | 6

7 Wik, B | md H R R T A A = A JUTHE 8.51 | 7

8 R %5 | mhd TP X RNV 20 E 0 =B JUTHE 8.31 | 8

9 | BRE | B | m¥4d WS BHEARTR (=D JUTHE 8.29

10 | Xy | 5 | = B PR T A A 2R 2 BA JUTHE 8.21

1| #EA | 5 | adhd R YN JUTHE 8.03

12 | EXHE | 5 | @hd B aprp 2 —pA JUTHE 7.64

- P TR LD (4 ) v | & | a
B gk | M| 4L AL i H Wst | k|
1| eFilE | @ | &P WG BEAR R (—BO JUTHE 8.72 | 1

2 | U | & | mhd B aerh 2 —RA JUTHE 8.36 | 2

3| AtER | & | mvhd TEIN X ERME 20 A Hrot—BA JUTHE 8. 34

4 | WERH | & | mhd IR 2ERE 1 RA JUTHE 8.31

= P S ARG R (PhTTD) (13 00 T R
B kg | MR | A AL S| g | k|
1| ZfE | 5 | mhd RS 2R 2 BA T 8.97 | 1

2 FH 24 5| md A —A FhT 8.84 | 2

3| B | B | mhd R R FhT] 8.81 | 3
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4 | x| 5| mRd HIRWAFEFE (2RO T 8.75 | 4

5 2K Hiy % | = HRWAFEFE (RO T 8.67 | 5

6 | RE#® | B | mhd BRI A 2R 1A k7] 8.61 | 6

T AaEA | B | mbd TEIH X R 20 A Hoe DY BA KT 8.58 | 7

8 35 % | mhd FEIH X ERME 20 A Hoe —BA KT 8.50 | 8

9 fhR % | " TEIH X HRME 20 A Hoe DY BA KT 8.50

10 | Bk | 9 | =R [ N 7] 8. 46

11| SUEEM | 5B | & WA BEARYR (=B ] 8.37

12 | Zfg 5| mhd WA BEARYR (=B ] 8.34

13 | AERM | 5 | mhd HRWAFEFE (=D i) FRL

= P AR EZ R (FhTDD) (T A U R
B ok | MR | A AL S| g | k|
1 X ik 7| ERA KT H 2 A k7] 8.55 | 1

2 | MWEE | & | A BRI k7] 8.47 | 2

3 B4 Z | Ehd H PR XU A 22 = BA FhTJ] 8.45 | 3

4 | BRigkE | & | mbd H R A 22— PA KT 8.45 | 4

5 T Z | mEhA R =L 2R 7] 8.42 | 5

6 XEE | 2o | =R PR 7 A 7] 8.35 | 6

7 T A 7| mRA R AL 224 71 7.87

= AT TARGAE (=R (3 ) s | & | a
B kg | MR | A AL S| g | k|
U fLE | 5 | mpd HIRTHE T —H%R 3 A =ik 8.73 | 1

2 *h % | = FEIM X ERME 20 A0 —BA =ik 8.45 | 2

3| MukR: | 5| M4 FEM X ERME A Ho DU RA =it 8.43 | 3

4 | AMR | 5 | R R ALHT LA 2R R A =ik 8.19 | 4

5 | #EM | B | mbd HRT A FEF S (SO —TAR 8. 10

= mP AL ARG (TR (40 | & | a
B gk | M| 4L ¥y i H Wst | IR |
1 | &WF | @ | &mPd T R PR AR A —TAR 8.55 | 1

2 | Harge | & | =4 T DXL #0R At —BA =itk 8.47 | 2

3| Eea | | i BRI FEFE (2RO =ik 8. 10

4 | PREE | & | mHd R R 5 =ik 0. 00

- A S TR SES R (BT (5 A s | & | a
B w5 HL Tt H Wa | k|
1| Z88 | 5 | mhd VO R OB A 2k (— B W] 9.06 | 1
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2 | X | B | mdhd HRWHE =Ly (2RO T 8.93 | 2

3| WRE | 5| mhd FEM X HRNE 2 E e =B *TJ 8.80 | 3

4 | #RE | 5 | mPd Bz —pA ) 8.78 | 4

5 | mRE | B | a4 HRT A FEF S (SO T 8.75

= P B TR CRED (6 A wu | 2| a
= gk | M| 4L AL i H RaR | |
1| B | B | mhd HER TR 5 G| 8.97 | 1

2 | Pz | 5 | mhd HIR T K AN H 28 B0 Pl 8.31 | 2

3| Br&EZE | B | md BRI FEFE (HBO G| 8.15 | 3

4 | kA | B | mdd HRWAFEFE (RO ] 7.99 | 4

5 fS ¥4 5| md FEM XL 20 E 0 —BA b Gl 7.94 | 5

6 | FEE | B | mhd VG K 2E B A 2 (2O G| FRL

= P AR E A (RS (6 A v | 2| m
= gk | M| 4 AL I H g | k|
1| k25 | & | mhd R AL BT A 2R R —BA G| 9.00 | 1

2 | BRERG | o | mvhd R TS 22— A P4l 8.75 | 2

3| HAmMMN | & | md WG BEARER (—BOD il 8.34 | 3

4 | s | | mpd FEIN DX BRME A Hot A G| 8.17 | 4

5 | l|EWE | & | mbd HH R SCER A B Ff J v 2 G| 8.15 | 5

6 J 7| mhd HRWAFEFE (—BO G| FRL

= S TR SEA (KBS (8 \) v | 2| m
2 kg | MR | A AL i H Wa | k|
1 ZEIR 5| A B AR 22 A KAHG 9.03 | 1

2 | EFEE | 9| mhd KT KA 22— BA KAHG 8.79 | 2

3| X | B | mbd HRT A FEF S (SO KAg 8.78 | 3

4 | FEfR % | mhd WA BEAR R (ZBO KAg 8.72 | 4

5 | BRIl | B | mhd Btz A KAg 8.60 | 5

6 | HEA | B | mbd WA B =R (PUBD KAg 8.54 | 6

T Al | B | A HRT A FEF S (B KAg 7.86 | 7

8 | MEM | B | mbd HIKEE KAg AR

- LTRSS (KAES)D (4 \) v | 2| m
2 kg | MR | A AL i H g | k|
1 T 7| A R T R PP A 22 =B KA 8.64 | 1

2 FH ¥ 7| ERA RSO B g v KA 8.40 | 2

3| kR | | mvhd HIRWAFEFE (2RO KA 8.30 | 3
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SCREE - s ST
4 5 | A R R P A =B KAES 8.20
[=AeRy’ 45 B %

= mH A BTG A (S (4 N vl o
B w2 | Al | Al BN I H Mak | k|
1| xE% | B | mhd TN X HRMY 2 E At —BA [l 9.15 1

2 R 5 | mhA U K= E e (=BA) [l 9.09 2

3 | Bk | B | w4 Rt = BA 35l 9.00

4 | BEx | B | mhd R AT A A A A 35l 8.95

4 1

= iz (4N s | 4 |lm
o w2 | Al | E BT i H Mgk | k|
1| 483507 | & e R AR X 2 /2 (—BA L2~ 8.42 1

1| BWE | &« e BRI R T 5P/ e A L~ 8.20 2

2 | TEA | Lk e BRI R T 5P/ e A L2~ 8.16

4 | ZPRE | & SEEE BRI R T 5P /N e = A L2~ 7.92




